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Aurora Warehouse Condo
For Sale

700 Billings St. | Unit M
Aurora, CO 80011

Property Overview Building Information
Phenomenal office/warehouse Size: 1,694 SF
space located right at 1-225 at Sale Price: $499 000
the 6th Ave. exit. Perfect for a .
e Showroom/Office: 1,000 SF (can be taken out for additional
officing or contractor. " warehouse space)
Association: $290/month
Property Tax: $6,909
Power: 200 Amp, 240 volt, 3-phase (TBV)
City / County: Aurora / Arapahoe County
Clear Height: 12
Loading: One (1) Drive-In Door (10"

Contact:

Class A office build out with a warehouse and
Steve Serenyi Layout: a drive-in door. Offices can be taken out for
+1 303 283 4578 additional warehouse space if desired.

steve.serenyi@colliers.com

Accelerating success. —


http://www.colliers.com/denver
mailto:steve.serenyi%40colliers.com?subject=

For Sale

Warehouse

RR
w/shower

Reception

Conference

Steve Serenyi Eli
e
i
=

+1 303 283 4578
steve.serenyi@colliers.com

il 2|

BROKERAGE
DISCLOSURE

Colliers

4643 S. Ulster Street, Suite 1000
Denver, CO 80237

P: +1 303 745 5800

F: +1 303 745 5888
colliers.com/denver

This communication has been prepared by Colliers Denver for advertising
and/or general information only. Colliers Denver makes no guarantees,
representations or warranties of any kind, expressed or implied, regarding
the information including, but not limited to, warranties of content, accuracy
and reliability. Any interested party should undertake their own inquiries as
to the accuracy of the information. Colliers Denver excludes unequivocally
all inferred or implied terms, conditions and warranties arising out of this
document and excludes all liability for loss and damages arising there from.
This publication is the copyrighted property of Colliers Denver and/or its
licensor(s). © 2024. All rights reserved. This communication is not intended
to cause or induce breach of an existing listing agreement.
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